2A:

I‘I il-l:

S P<Ein)}
>eX Sao =X P

(ALEIZXI/ALEI S R E)

2ol d8 SxeE =4 (S5 #9)
= X XH Ctel (S |=| /~¢I OH l— =|E =2}
SXIE 2 717,709,075 666,951,919 50,757,156
= 513,605,639
N 9,101,000
o= 195,002,436
2QX BAO =XIILt PE(ASISX /A= X L8 15,271,654 15,639,370 ~367,716
= 4,144,278
Xl 9,101,000
& 2,026,376
& =X8E =4 14,825,230 15,248,914 AN423,684
= 4,144,278
Xl 9,101,000
= 1,579,952
A2l =X ZHOHEY =& 208,736 216,388 AT,652
201 Y EH2 I 21,000 26,560 A5,560
01 At 2teltl 21,000 26,560 A5,560
OAL2I =X AIZH JH e 9,000
OMSISXIAIE HIHOISSEXAIA) 7,000
OAMaI=XRR2E 29 5,000
202 044l 58,000 60,071 A2,071
01 =20 YI 15,000 17,071 A2,071
odd =Xd =48 =8 15,000
04 2HI5H04 Hl 43,000 43,000 0
QoA LXK BIXIOHY & SEHS 43,000
203 &R =&l 72,000 72,000 0
03 Al =X PR 72,000 72,000 0
OMBI=XSEAIY =X 72,000
301 YetB A= 1,736 1,757 A21
0B ALEIERRIBAS 1,736 1,757 A21
QA =23 SAHI 1,736
307 S12+0I & 8,000 8,000 0
11T AL =S XALE 2 & 8,000 8,000 0
OZEE ASI=SXIACHE XI& 8,000
308 At XIHHMSOIH 48,000 48,000 0
01 UAXSHMBAEES 48,000 48,000 0
OA2=EXA2 2= K& 48,000
Ne=TAg Jrgh =4 575,910 697,000 A 121,090
201 2 EH2EHI 6,000 6,000 0
01 AFR 22l bl 6,000 6,000 0
OAMSISHEAY F&l 3,000
OSIY=XNKNJHAE =& 3,000




e E VA E-En
BE: £QX 4O ZXIIB RE(ASISX/AE =S XY

el d8 FXEE =4 (el &)
- _ — Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2
202 o4dl 9,000 9,000 0
01 = LHOYI 9,000 9,000 0
OXLE=XNAY =& 9,000
307 2I2+0I A 303,410 296,000 7,410
05 RIZIRE S 70,000 70,000 0
OZAE Atsl=EXg 2 A2 70,000
10 AL S XAIEHE2IHIEX 168,410 156,000 12,410
OZEEAMNZ=XES 24 123,410
OZYECWT 2H 45,000
A SXAIEE X 65,000 70,000 A5,000
OLAZM=XNE=E233 29 50,000
OZEEAMZ=XUE K& 15,000
308 At XIHHMSOIH 257,500 386,000 A 128,500
01 IXESHHMBLEXS 257,500 386,000 A 128,500
QAl - & At3IEXIE23 29 234,000
OFEC0BN =2 10,000
OJIRAE UsEdol sH 13,500
MBS RXIAIY F& 95,000 95,000 0
307 QI2+0I A 95,000 95,000 0
10 ASISEXANEHE2ZHEX 95,000 95,000 0
OZEE AN ZSEHELZHH 24 95,000
NA=EXNAIY HIOH=1) 12,500 13,500 A 1,000
= 12,500
307 QI2+0I A 12,500 13,500 A 1,000
= 12,500
11T AL =S XA E X 12,500 13,500 A1,000
OXSAEEE2AM &-et XS 12,500
= 12,500
SSSXNJLEMAH L T3 (=22) 4,131,778 3,505,500 626,278
= 4,131,778
308 At XIHHMSOIH 4,131,778 3,505,500 626,278
= 4,131,778
01 IXEHBAEES 4,131,778 3,505,500 626,278
OAta|=X1& o148l XI& 3,067,750
= 3,067,750
OSEAtdl2telAt XI& 777,828
= 777,828
OSH=S Atdl2tel K& 151,200
= 151,200
OAIZ7 At 2tel XI& 135,000
= 135,000




@)

=

2N SXFHY
BE: £QX 4O ZXIIB RE(ASISX/AE =S XY
el MT =XSE IA (e
A" G(3) - MPAY - B Ofl &t e HIDE2
KNAEXNSEMIIAMBIASEIAIE (XIS) 9,801,306 9,528,026 273,280
Xl 9,101,000
& 700,306
202 oddl 6,000 6,000 0
Xl 4,200
& 1,800
01 =LHOYI 6,000 6,000 0
OXNGAMIIMEUIAETIAS F& 6,000
Xl 4,200
& 1,800
307 2IZ2t0I A 284,000 309,600 A25,600
Xl 198,800
& 85,200
1 ARISXAIEE X 284,000 309,600 A25,600
OZEEXNAARMEIAX AL 2 284,000
Xl 198,800
& 85,200
308 KX SHHSOI&E 9,511,306 9,208,426 302,880
Xl 8,898,000
& 613,306
01 AXSHMBAELS 9,511,306 9,208,426 302,880
OXNSAAMNIAMEUIAETAS K& 7,268,893
Xl 6,728,500
& 540,393
OJtat2td &2 K& 1,169,000
Xl 1,169,000
O&tR - Ao AZ el K& 1,006,913
Xl 934,000
& 72,913
OXI DA MEIASETALY 28 K& 66,500
Xl 66,500
SNAE &30 2 446,424 390,456 55,968
MEIEXAE 28 =& 446,424 390,456 55,968
307 QI2+0I A 46,100 38,880 7,220
11T AL S XA 2 X 46,100 38,880 7,220
OS2 MI=EXNAE SMIL SN 41,400
OZSAEX 2 A2 TS 4,700
308 KX SHH SOl 350,324 306,576 43,748
01 AXHMBLAEES 350,324 306,576 43,748
OAl - 2 MIEXAE SMIL EX=E 271,584
OZEA=X2 2435 K& 18,000
QeI DAIE XA 21,240
OAM3BISXAIE SAR A28 Jtdl X& 39,500




SN =SXFRY
o +QX 4O =XII8 PE(AMSIEXI/AS ST Lt
Sl =XAE 25D 2IXY (el @e)
- _ - &
SA - ZH - ESA(E) - MRAY - BES 0l st St HIRE2
403 XIS K20l & 50,000 45,000 5,000
01 REXI SRR 2 & 50,000 45,000 5,000
ONZ ABl=XER JIS2Y 50,000
PELYTD HHBH(ASZX/2E) 702,700 636,000 66,700
SEHSAY X2 702,700 636,000 66,700
PECH N L BEAY XX 502,700 386,000 116,700
201 Y2t 9,000 5,000 4,000
01 At 22IH] 9,000 5,000 4,000
OLLEBMY +4% B 9,000
307 812401 & 438,700 346,000 92,700
03 DI YR B X 135,000 135,000 0
ORESH 2HHl K (9HESH) 135,000
DRNEEVNEEEEETEES 50,000 48,000 2,000
0% 223 2% Xg 50,000
11 MBI S TIA 2 X 253,700 163,000 90,700
0% BEUMEs 4 X 5,000
OX0IZY AZHE L 34 X 84,000
OLIZAZ A BY HHRBL S 2ES
EEE EL Y 32,000
OMAS ZIIRBA 4% X8 25,000
ORECH JARS NA(ISHEH) 107,700
308 XX EH XIS 01 & 55,000 35,000 20,000
01 IXISHBaRES 55,000 35,000 20,000
ON66FH 625 G #A X2 20,000
OSYRBX - 85 S XY 15,000
©3.1% JIE Li2tMZ H=SAt XY 20,000
NZ 2232 JI522 N 200,000 250,000 A50,000
403 XIS K20l & 200,000 250,000 A50,000
01 REXISHRIXHE 2 X 200,000 250,000 50,000
OMHTSZ Js2Y X 190,000
ORELH ARA AlgES X 10,000
SR EEEEINCEIIPEEEED 423,193,749 389,536,894 33,656,855
2 355,461,768
= 67,731,981
NASS XD HOIZX A 163,041,514 141,377,107 21,664,407
2 144,616,417
< 18,425,097
HASE sgxd 248,000 285,000 A37,000
201 Y2t 5,000 5,000 0




SA:

M R0 EMEEE(ANSE | EMELT)
SPl: HASS KD FOI=X A EERED
- _ &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
01 Ab=22keldl 5,000 5,000 0
OQIIZMELEFAY =& 5,000
202 04Hl 8,000 9,000 21,000
01 UK 8,000 9,000 A1,000
OMASE NAL FH=A 244 8,000
308 AtXIHMSOIH 235,000 241,000 6,000
01 HIXHMBYELS 235,000 241,000 6,000
Oxta? 2sXd 235,000
228X XNA(=1) 3,990,000 4,725,000 A735,000
= 3,800,000
& 190,000
308 AFAIHHSOI& 3,990,000 4,725,000 /735,000
= 3,800,000
= 190,000
01 HIXNHMBSELS 3,990,000 4,725,000 A735,000
o2a=sA X2 3,990,000
= 3,800,000
& 190,000
=0 S SIXNE(==xUAE 2ERE)(21) 2,287,739 2,144,390 143,349
= 1,601,417
& 686,322
308 AFAIHHSOI& 2,287,739 2,144,390 143,349
= 1,601,417
= 686,322
01 IXHMBSEXS 2,287,739 2,144,390 143,349
OL=02A&E 28 N2 2,287,739
= 1,601,417
[ 686,322
=0 S SIXNE(==xUAE JIsE)(21) 67,500 154,500 287,000
= 45,000
S 22,500
403 NUHXIHHS A0l A 67,500 154,500 287,000
= 45,000
= 22,500
01 XM= E X 67,500 154,500 287,000
=QIA&E JIs2d X2 67,500
= 45,000
S 22,500
HAS0 N (=1) 150,426,000 0 150,426,000
= 133,712,000
& 16,714,000
308 AtXIHMSOIH 150,426,000 0 150,426,000
= 133,712,000
= 16,714,000




A SNEHL
X 201D
=1}

el WASE XA Foi=X A8 (sl @ 2)
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2

01 IXEHBAEES 150,426,000 0 150,426,000
OF F={0] 150,426,000
= 133,712,000
T 16,714,000

g0 & 338,100 0 338,100

308 AtXIHHSO0IH 338,100 0 338, 100

08 WSI|20HstE = 338,100 0 338, 100
©JnE=F={v] 338,100

HAZRZH X (=212) 1,141,650 0 1,141,650
= 1,062,000
& 79,650

308 AtXIHHSOIH 1,141,650 0 1,141,650
= 1,062,000
o= 79,650

01 IXESHHMBLEXS 1,141,650 0 1,141,650
Odil&tE M= 1,141,650
= 1,062,000
& 79,650

AL HE 2280l X(21) 953,525 892,000 61,525
= 887,000
& 66,525

308 AtXIHHSOIH 953,525 892,000 61,525
= 887,000
o= 66,525

01 IXESHHMBLEXS 953,525 892,000 61,525
Oxt&2IHE 2=l XH 953,525
= 887,000
& 66,525

o gl X(=21) 3,264,000 3,210,000 54,000
= 3,264,000

308 At XIHHSO0IH 3,264,000 3,210,000 54,000
= 3,264,000

01 IXESHBAEES 3,264,000 3,210,000 54,000
QJl==g it 38 XA 3,264,000
= 3,264,000

SE0Ig=F0 XNYHS(=22) 245,000 255,060 A 10,060
= 245,000

201 2 EH2HH| 9,000 0 9,000
= 9,000

01 At 22|l 3,000 0 3,000
O=&0IE=8l XIFEsl Ml 3,000
= 3,000

03 A2 Z I 6,000 0 6,000




A SNEH L

M R0 EMEEE(ANSE | EMELT)
Col: HASS UHD BOI=X AW (crol@a)
SA - F SR (EH) - NPAY - BYS 0l & o e DS
O=&0IE=Cl AA2EY 6,000
= 6,000
307 QI2+0I A 221,000 255,060 A 34,060
= 221,000
10 AL S XAIEHE2IHIEX 221,000 255,060 234,060
OXNSHESHH 23 221,000
= 221,000
308 At XIHHSOIH 15,000 0 15,000
= 15,000
01 IXEHBEAELS 15,000 0 15,000
=si0lg%0 K%eos 2o 15,000
= 15,000
SE0lg=0 ZX& 80,000 101,900 A21,900
201 LB 2,000 11,500 A9,500
03 A2 HI 2,000 9,000 AT7,000
O=BOIZE AN 3D 2,000
307 2IZ2t0I A 18,700 18,000 700
11T AL =S XA E X 18,700 18,000 700
O=E0IEF0 ABHES W= 6,000
O=g0IEg=x0 28208 2 10,000
O=BOIYEA XA B2 KW 2,700
308 At XIHHSOIH 59,300 72,400 213,100
01 IXEHBAEES 59,300 72,400 213,100
O=e0IE=8TH s=HEH K& 19,950
O=BOISFUTL 420i2H| K2 5,000
=s012%0 2ReE S E 7,200
O=&0Ig=8 H&HE FH=E X2 15,000
SeHOIE st WiHel X 3,150
=s0|2E0 Q0INE X 9,000
o220IDI2 2Y(ARZ0IZ2ASHE) 237,249,860 226,276,007 10,973,833
= 189,592,620
o= 47,657,240
o230 MEAMHIA XA (=1) 236,536,897 225,554,168 10,982,729
= 189,592,620
T 46,944,277
201 LB 3| 650,000 650,000 0
= 520,000
T 130,000
01 AtR2t2ltl 650,000 650,000 0
ORIE - A== 650,000
= 520,000
T 130,000




SM: =X
3 D= MEEH (MRS ZEEEY)
g@el: Az300IS 2H(A230IIS2ISE3) (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
308 AtXIEHMSOIH 3,216,067 2,899,200 316,867
= 2,935,956
= 280,111
01 IXSHMBSEES 3,216,067 2,899,200 316,867
o= 22 #3233 72,000
= 64,000
S 8,000
O2Sl=Hl s8it= 16,200
= 14,400
S 1,800
oI & o 237 2 X 765,000
= 680,000
= 85,000
o=zol FY o= 99,000
= 88,000
= 11,000
O2zg0 2 695,072
= 695,072
OAHZHUERIH| 1,568,795
= 1,394,484
& 174,311
403 RXIEHHSA=01 A 232,670,830 222,004,968 10,665,862
= 186, 136,664
& 46,534,166
02 SISOt A=A T AL HI 232,670,830 222,004,968 10,665,862
odlzdl H&= 232,670,830
= 186, 136,664
= 46,534,166
Segoge =4 213,840 221,840 A8,000
201 2Er2gY| 9,000 9,000 0
01 Ab=22teldl 6,000 6,000 0
O=z=0 Let=d 6,000
03 A2 3,000 3,000 0
o2z &AL HErs 3,000
202 o4l 10,000 18,000 A8,000
01 =UWo 10,000 10,000 0
CEEENETIESS 10,000
308 AtXIEHMSOIH 194,840 194,840 0
01 ARSMBLELS 194,840 194,840 0
OYREx o1AH K& 105,600
o#ddl K& 89,240
oilg1 i 499,123 500,019 A 896
801 oiiBlBl 499,123 500,019 ABY6




A SXNE AL
o RO ZMBER(AIS SN /I ZMELT)
&€ AS20IIE 2SS (ASSHIIS2LELSN) (&2 &)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
01 £erailglbl 499,123 500,019 2896
Ouldlbl 499,123
golz2 g - g X3 22,902,375 21,883,760 1,018,615
= 21,252,731
T 1,649,644
g & NEsX 88 =48 48,000 50,000 A2,000
307 212+0I ™ 48,000 50,000 22,000
1A SXAIE E X 48,000 50,000 22,000
OXN AT HE A2 AIY 25,000
OXEHH MBS XIJ 10,000
oL ZHE N 13,000
AT EXAHEH(Z2) 482,500 468,440 14,060
= 337,750
T 144,750
307 212+0I A 482,500 468,440 14,060
= 337,750
< 144,750
10 SIS XANEHE2EHIEX 482,500 468,440 14,060
OZAXEHH 23 482,500
= 337,750
T 144,750
AR (=20) 19,329,564 17,827,040 1,502,524
= 18,166,314
T 1,163,250
308 Xt XIEHHIS Ol & 19,329,564 17,827,040 1,502,524
=l 18,166,314
< 1,163,250
01 UAXHMB L EXS 19,329,564 17,827,040 1,502,524
oOxg2z2 X2 16,673,250
= 15,510,000
T 1,163,250
OXS XY 23 2,620,422
= 2,620,422
ORXHEAtel 22l 35,892
= 35,892
225U L3N8 E4BNA(3D) 3,042,311 2,172,480 869,831
= 2,748,667
o= 293,644
307 212+0I ™ 1,488,335 1,014,480 473,855
= 1,194,691
< 293,644
10 SIS XA EHE2EHIEX 66,414 64,480 1,934
Qs|YIISSEHAIY 2 Atedl2tel 234l X 66,414
= 46,490




SN SXFHY
Mz RO EMEEH(ASSN /I ZMEST)
chel: g MY - UE X (=R
SA B ER(S) - MRAE - BaS Of &r e HIDE
S 19,924
N ARISAIAMIEE X 1,421,921 950,000 471,921
O3l SSTAE 2 X 1,421,921
= 1,148,201
S 273,720
308 AtXIEHMSOIH 1,553,976 1,158,000 395,976
= 1,553,976
01 HIXHMBYELS 1,553,976 1,158,000 395,976
QslZIISSEAME 1 X& 1,168,494
= 1,168,494
ouzllssd A=A 385,482
= 385,482
I‘l%ﬁ)?_?z\ Ots XN (SXNEFHL)(ASI=SX/EF - It 254,960, 354 238,380,964 16,579,390
2014
= 153,953,719
T 101,006,635
MEd Hedgs 492,857 491,000 1,857
= 30,000
= 462,857
HEMUH 28 FU 2,000 3,000 21,000
201 €erE gl 2,000 3,000 21,000
01 At22t2ll 2,000 3,000 A 1,000
OMENMUHPAER 29 2,000
CHAEOHE SEX3 448,000 488,000 40,000
308 AFAIHH SOl 448,000 488,000 40,000
01 HIXHMBSELS 448,000 488,000 40,000
OUXHIIE SEXA 448,000
MNEMDSEAE H =220 X (=12) 42,857 0 42,857
= 30,000
S 12,857
308 AtXIEHMSOIE 42,857 0 42,857
= 30,000
S 12,857
01 HIXHMBSEXS 42,857 0 42,857
OMEL =5 Qaid 22y X 42,857
= 30,000
S 12,857
Ots=XIAMHIA XI& 20,881,842 23,776,770 A2,894,928
= 15,212,002
= 5,669,840
250ts A9Sd 75,000 92,000 217,000
201 2Er2gH| 6,000 26,000 220,000
01 At22t2lHl 6,000 26,000 220,000




e BV E-E

2 HEN 28 05 N (SNIHUD)(AMESX/2S - HSL0E)
&2l OtsS=XMHIA X (&2l &)
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
Ol0ts=X2d A3 29 5,000
O0eole JI8 & A 1,000
307 212+0I ™ 69,000 66,000 3,000
AR SEXAIEE X 69,000 66,000 3,000
OO0 eole J18 el At 6,000
OAE0ts RAEE2H 23 49,000
Oo0tsXZole 23 7,000
O=E! Z2g = Al 7,000
ors=XI& 23 71,000 60,000 11,000
307 glz2tol 71,000 60,000 11,000
10 Al SXAEHE2LHIEX 71,000 60,000 11,000
OE=30ts NSNS 23 71,000
OLS=XIAIE SAL W= 11,000 11,000 0
201 2 EH2EH| 3,000 3,000 0
01 At 2t2lbl 3,000 3,000 0
OOIS=EXAIE SAA BE 3,000
301 Yt A= 8,000 8,000 0
09 SAtAHIE A S 8,000 8,000 0
OusaEAI 24 8,000
230t 28 X 259,318 245,930 13,388
308 At XIHHSOIH 259,318 245,930 13,388
01 UAXSHHBAEES 259,318 245,930 13,388
OEs0ts MEotd XI& 259,318
Ots=4 X& 787,728 5,263,756 A4,476,028
202 044l 6,000 7,000 A 1,000
01 =L YI 6,000 7,000 21,000
Oots=AAE =8 6,000
308 XHXIHMSOIH 781,728 5,256,756 A4,475,028
01 IXESHBAEES 781,728 5,256,756 A4,475,028
ogsts OtssA 773,568
OZA0ls TAEHE RFH| 8,160
ANEotsHH 2SR (=1) 6,068,575 5,646,462 422,113
= 5,057,146
o= 1,011,429
308 At XIHHSOIH 6,068,575 5,646,462 422,113
= 5,057,146
T 1,011,429

01 UAXEHHBLEEXS 6,068,575 5,646,462 422,113
OXotsdE 23 5,544,725




e BV E-E

M MEL 2] 0t K(SXNEHD) (M =X/ES - LML)
el OtssSXAMElA X (el &)
- _ — Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2
= 4,620,604
= 924,121
OXlG0lsdH SE+==82g 29 283,651
= 236,376
= 47,275
OXgGotsHEH EQY 2 240,199
= 200, 166
= 40,033
NEotsHE 2SN 252,574 230,497 22,077
308 AtXIHHSOIH 252,574 230,497 22,077
01 IXESHBAEES 252,574 230,497 22,077
OX<0lsdH 28 852 X 206,074
OXY0tsHE A0 X3 46,500
KNHotsSHE XJAY 2 (=1) 175,000 175,000 0
= 87,500
= 87,500
307 SIZ2t0I A 175,000 175,000 0
= 87,500
= 87,500
10 ALRISEXAIEHE2SHIE X 175,000 175,000 0
OXlS0otsdH X2 29 175,000
= 87,500
= 87,500
XNEotsSHE Bty 2GXA(=1) 29,826 25,214 4,612
= 14,913
= 14,913
307 2IZt0I A 29,826 25,214 4,612
= 14,913
= 14,913
10 ALRISEXAIEHE2IHIEX 29,826 25,214 4,612
OXgotsHE Hote K& 29,826
= 14,913
= 14,913
XG0otsSHE 20 FAHSTWA K& 42,000 42,000 0
308 At XIHHMSOIH 42,000 42,000 0
01 IXESHHMBLEXS 42,000 42,000 0
OZ0 WA XA 42,000
KNAOtSHE SALL 1S 18,600 7,600 11,000
201 LBt 3| 2,000 2,000 0
01 AFR 22l bl 2,000 2,000 0
OXZGOtSHE SALN W= 2,000
301 L8 a3 5,600 5,600 0
09 HAAHIZ &3 5,600 5,600 0




e BV E-E
3 HBM 2R 05 N (SXNIUD)(MISX/2S - FSL04A)

Etel: OtSSEXAHIA K& (el 8 d)
- _ - &4
SA - BY . SAEH) - HRANY - B ofl &2 St HIDS

OusFAA Adl 24 5,600

307 212t01 & 11,000 0 11,000

N ARISAIAMEE X 11,000 0 11,000
OXS0tsdEH =M stotg A& 11,000

OlS=EX WA XA (=21) 1,378,944 1,378,944 0
= 1,149,120
& 229,824

308 AtXIEHMSOIH 1,378,944 1,378,944 0
= 1,149,120
& 229,824

01 HIXNHMBSELS 1,378,944 1,378,944 0
OXZOtSHE OtSSX WA X 1,378,944
= 1,149,120
& 229,824

gaots s N (=12) 752,119 692,849 59,270
= 692,741
& 59,378

308 AtXIEHMSOIH 752,119 692,849 59,270
= 692,741
& 59,378

01 IXHMBSEXS 752,119 692,849 59,270
oYLlIs L=E 752,119
= 692,741
& 59,378

gef=cidI2 2RHAA(21) 23,736 28,328 AN4,592
= 21,862
& 1,874

308 AtXIEHMSOIH 23,736 28,328 AN4,592
= 21,862
& 1,874

01 HIXHMBSEXS 23,736 28,328 A4,592
oYd=dI2t 24 X 23,736
= 21,862
& 1,874

gaHIE XA (=21) 42,746 56,814 A 14,068
= 39,371
& 3,375

308 AtXIEHMSOIH 42,746 56,814 A 14,068
= 39,371
& 3,375

01 HIXHMBSEXS 42,746 56,814 A 14,068
oyadlg X 42,746
= 39,371
& 3,375

Zoots YLAREXS(F1) 69,102 73,063 23,961




e BV E-E

M MEL 2] 0t K(SXNEHD) (M =X/ES - LML)
el OtssSXAMElA X (el &)
- _ Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2
= 63,647
= 5,455
308 At XISHHMSOIH 69, 102 73,063 A 3,961
= 63,647
= 5,455
01 AXHMBLAEES 69, 102 73,063 A3,961
OZ0ols dLLsE2XZ XA 69, 102
= 63,647
= 5,455
LAOtS IIE K& 18,000 18,000 0
308 At XISHHMSOIH 18,000 18,000 0
01 IXESHBAEES 18,000 18,000 0
oYdd=ota XN 18,000
QESOIs 18E 25 2N (=) 575,550 482,802 92,748
= 442,731
= 132,819
308 KX SHHSOI&E 575,550 482,802 92,748
= 442,731
& 132,819
01 IXEHBAEES 575,550 482,802 92,748
oREs0ls 088 B 29 & 575,550
= 442,731
= 132,819
IIEEols AGEEE X2 (=1) 66,196 67,762 A 1,566
= 60,970
= 5,226
308 AtXIHHSOIH 66,196 67,762 A1,566
= 60,970
& 5,226
01 IXEHBAEES 66,196 67,762 A1,566
oddi2Ed=z XN& 66,196
= 60,970
= 5,226
OlsSZEXEAE XE(21) 625,083 695, 341 A70,258
= 575,734
= 49,349
308 KX SHH SOl 625,083 695,341 270,258
= 575,734
& 49,349
01 IXEHBAEES 625,083 695,341 270,258
OCDA IHEXIE 3 625,083
= 575,734
= 49,349
OISEXAAE JIsE2 XJ(=21) 529,274 558,834 A29,560
= 385,595




e BV E-E

u: HBL B OIS N(SXZYM)(A=N/2S - HEL0E)
Etel: OtSSEXAHIA K& (el 8 d)
o - — Al L=
SA B ER(S) - MRAE - BaS Of &r e HIDE
S 143,679
402 212t X201 80,000 496,062 416,062
2 40,000
S 40,000
01 U2 AIHE X 80,000 496,062 416,062
OOIsEXIAE ZHIEZ K& 80,000
2 40,000
T 40,000
403 MR HHS =201 A 449,274 62,772 386,502
2 345,595
= 103,679
01 XM= E X 449,274 62,772 386,502
O0ts=ANAE JIsES A& 399,945
2 307,650
S 92,295
OOIsEXIAE ZHIEZ K& 49,329
2 37,945
= 11,384
OlSZAIESAIE 24 464,700 464,700 0
307 el2tol & 464,700 464,700 0
10 Al STAEHE 282X 464,700 464,700 0
OOIS2ZAIE2AE 28 FIHXE 42,000
OO0ISLAIESAIE 29 422,700
OlSESd2IZ 29(=21) 1,900,710 868,490 1,032,220
= 1,013,712
= 886,998
307 212tol & 1,520,568 659,588 860,980
= 760,284
S 760,284
10 ASAANEEE2EHEX 1,520,568 659,588 860,980
OltsEzdEJII& 24 1,520,568
= 760,284
= 760,284
308 AXIHMSOIH 380, 142 208,902 171,240
= 253,428
S 126,714
01 HIXHMBYELS 380, 142 208,902 171,240
OltsEzdEII& 24 380, 142
= 253,428
S 126,714
stijmsiols 48 29(=12) 263,058 0 263,058
= 202,352
= 60,706
308 AXIHMSO0IH 263,058 0 263,058
= 202,352




e BV E-E

M NEd 25 0 N (SNFHY)(ARSX/ES - IELAHY)
ctelr OtSSXAHA X2 (&2 dd)
= - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
S 60,706
01 HIXHMBYELS 263,058 0 263,058
ostliulofiotsaH 29 263,058
= 202,352
= 60,706
20|12 =29 180,000 180,000 0
307 el2tol & 180,000 180,000 0
10 Al STAEHE 282X 180,000 180,000 0
ozdlla 2¢ 180,000
YA XNAGH 29 257,000 257,000 0
307 212t01 & 257,000 257,000 0
10 Al SXAEHI2IBIE2X 257,000 257,000 0
QIIZAEXNAHEH 29 257,000
FHetHSO0ots S ArdiZel(=1) 5,400,000 5,270,000 130,000
= 5,400,000
308 AtXIHMSOIH 5,400,000 5,270,000 130,000
= 5,400,000
01 HIXSHMBSEXS 5,400,000 5,270,000 130,000
O0ts SEgAbIA X2 5,400,000
= 5,400,000
We start OIS 29 540,000 540,000 0
308 AtXIEHMSOIH 540,000 540,000 0
01 HIXSHMBMEXS 540,000 540,000 0
OWe start Ot At K& 540,000
g - IEAS0IS MelXIE XE A (=1) 5,008 6,384 21,381
= 4,608
S 395
308 AtXIEHMSOIH 5,003 6,384 1,381
= 4,608
S 395
01 IXSHMBSEES 5,003 6,384 1,381
oY - IIFAEOS AdlXlzdl X&H 5,008
= 4,608
S 395
2 Al Hat 233,585,655 214,113,194 19,472,461
= 138,711,717
= 94,873,938
EEANY S 14,000 15,430 A1,430
201 224l 8,000 8,000 0
01 Ab=22teldl 8,000 8,000 0
O=E=s3XFds =¥ 8,000




24 SXNEH
M HE4s B 0ts NI (SRANEHI)(MII=SX/ES - IHIFLCHY)
s

el EFAHHIA 25 (el &)
= X XH Ctel (S (=) (] HA2 OH xl—.ILli'E =2}
TH'O&'J‘T‘I(QI}I).HITAI-:I.{EO—I 01'&—- 0:"&.0” HIDLED
202 044l 6,000 7,430 A1,430
01 = LHOYI 6,000 7,430 21,430
OESAY =& 6,000
SOISEXNJANH 29(=22) 481,284 312,000 169,284
= 244,642
o= 236,642
307 SIZ2t0I A 469,284 312,000 157,284
= 234,642
T 234,642
10 SIS XA EHE2EHIEX 469,284 312,000 157,284
T SSgNEEH 28 N& 469,284
= 234,642
o= 234,642
308 At XIHHSO0IH 12,000 0 12,000
= 10,000
o= 2,000
01 IXEHBEAELS 12,000 0 12,000
OQAlZ SOHXIHH NHE2ds XA 12,000
= 10,000
o= 2,000
HElold wd ZEXA(=1) 59,396 59,396 0
= 29,698
o= 29,698
307 SIZt0I A 59,396 59,39 0
= 29,698
o= 29,698
11T AL =S XA 2 & 59,396 59,396 0
oogold A ¢4 X 59,39
= 29,698
o= 29,698
Helold get=Edls A& 80,200 80,200 0
308 AtXIHHSOIH 80,200 80,200 0
01 IXESHBAEES 80,200 80,200 0
OMASEE Ot st=tdHlz X 80,200
olglold s&eta X3 227,060 217,400 9,660
308 At XIHHSOIH 227,060 217,400 9,660
01 IXEHBEAELS 227,060 217,400 9,660
oozoly & g4 1A 227,060
HASE B82 2E2RE3 S A2 105,600 0 105,600
308 At XIHHSOIH 105,600 0 105,600
01 IXEHBAEES 105,600 0 105,600
OMAxsSE B2 RFRREHS 5 A& 105,600




e BV E-E
2 HEM 28 05 N (SNIHD)(MESX/2S - HSL0HL)
=

el BFAHA 25 (el &)
- _ — Pl
S - CRA(EH) - MRAY - BaS 0] &k o8 St =2
Ol2I0ld &Zoie XJ(=1) 604,954 498,127 106,827
= 465,350
& 139,604
403 MRS S =01 A 604,954 498,127 106,827
2 465,350
& 139,604
01 AXISHMA=2E L 604,954 498,127 106,827
ONeold M= 92,300
= 71,000
& 21,300
ONEolE HE=> 448,500
2 345,000
& 103,500
oOzoly HHI2Z 22,100
= 17,000
& 5,100
OO HE =+ 39,000
= 30,000
& 9,000
OZ 0oL HHIEZ 3,054
= 2,350
& 704
O12I01E REY LM X 1,440,800 1,440,800 0
308 At XIHHSOIH 1,440,800 1,440,800 0
P EYERCES] 1,440,800 1,440,800 0
O0elold WA MM XS 1,440,800
HEIOIE SALA 24 WM 53,000 45,000 8,000
307 2I2+0I A 38,000 30,000 8,000
TEETIIEEES 38,000 30,000 8,000
oNzolY 232 M HEE ¥ s XN 38,000
308 KX SHH SOl 15,000 15,000 0
01 IXSHHBLEES 15,000 15,000 0
oZ&ozold st 15,000
FOEEXNEH 29 XN 21,400 15,000 6,400
308 At XIHHSOIH 21,400 15,000 6,400
01 IXESHBAEES 21,400 15,000 6,400
OXYE=0tE&XAMYH 2 X2 21,400
goters XNA(=21) 88,949,454 90,315,423 A 1,365,969
= 76,579,000
= 12,370,454
308 KHXISHHSOI& 88,949,454 90,315,423 A 1,365,969
= 76,579,000
= 12,370,454




2A:

Ao HEA 2R 0S N (SN (NLSX/2] - HEL0Y)
Sl ESAHA 23 (el &)
_ - &4
SA - ZH - ESA(E) - MRAY - BES 0l st St HIRE2
PR EEE ) 88,949,454 90,315,423 1,365,969
OYROIEEE XY 88,949,454
2 76,579,000
= 12,370,454
NATSE 2SA(2D) 493,684 269,851 223,833
2 379,757
= 113,927
308 XXIEHH S O & 480,684 243,851 236,833
2 369,757
= 110,927
01 MXIEHH AL EES 480,684 243,851 236,833
ONZISE 2HA 480,684
2 369,757
= 110,927
403 T XIS ST =0/ 13,000 26,000 113,000
2 10,000
= 3,000
01 XX SHAI Xt 2 X 13,000 26,000 13,000
ONZAXSE BHAL 13,000
2 10,000
= 3,000
SNy 252 N9 65,566,680 53, 100,000 12,466,680
308 XX €HH S O & 65,566,680 53, 100,000 12,466,680
PN EREESS 65,566,680 53, 100,000 12,466,680
OF2LY 2R N 65,566,680
rEYsLY NA(2D) 32,776,292 30, 160,508 2,615,784
2 28,218,000
= 4,558,292
308 X XIEHH S0 & 32,776,292 30, 160,508 2,615,784
2 28,218,000
= 4,558,292
01 XIS HALZED 32,776,292 30, 160,508 2,615,784
oNEesLY N 32,776,292
2 28,218,000
= 4,558,202
STEOIY0IY NE(F2) 2,990,000 2,841,769 148,231
2 2,300,000
= 690,000
308 X XIEHH S0 & 2,990,000 2,841,769 148,231
2 2,300,000
= 690,000
01 HXISHALZED 2,990,000 2,841,769 148,231
OZZHORO0IY X& 2,990,000
2 2,300,000
= 690,000




SM: =X
A B4 B= 0t N (SXNFHD)(MI=EX/ES - HELAHA)
el EFAHHIA 25 (el &)
- _ — Pl
SN BB S(EA) - MRAY - BES 03] &k o8 St BlRE2
HIZOHOF &2tE: BE= 78,000 104,000 226,000
308 At XIHHSOIH 78,000 104,000 226,000
01 IXEHBAEES 78,000 104,000 226,000
OHIZ 0Ot &= B2 78,000
22 LLHEE 2EXJA(=20) 44,720 49,453 N4,733
= 34,400
o= 10,320
308 AtXIHHSO0IH 44,720 49,453 A4,733
= 34,400
T 10,320
01 IXEHBEAELS 44,720 49,453 AN4,733
Of2 2LHYEH 29 X& 44,720
= 34,400
o= 10,320
S o2 ¥ 2EXA(21) 39,599, 131 0 39,599, 131
= 30,460,870
o= 9,138,261
308 At XIHHSO0IH 39,599, 131 0 39,599, 131
= 30,460,870
T 9,138,261
01 IXEHBEAELS 39,599, 131 0 39,599, 131
OE=swAA 224 ¥ 2I XA 39,599, 131
= 30,460,870
o= 9,138,261
HE A AL (SXE D) (IIEHIIE) 127,317 128,173 A 856
= 45,874
o= 81,443
QIHA2YHI (A ES0HIISSIELEIIAH) 69, 140 63,973 5,167
=} 45,874
< 23,266
ZZ0ACIAN 2 (=21) 69, 140 63,973 5,167
=l 45,874
& 23,266
101 1A 4] 69, 140 63,973 5,167
2 45,874
& 23,266
03 RIAHA2ZRHE = 69, 140 63,973 5,167
O2dzz= 0 &2IA(2Y) 57,342
=l 45,874
& 11,468
O2A=zZ2 ¢ A2IAMN MU= 11,798
Jl=&Hl 58,177 64,200 A6,023
fA2E JI=23h| 58,177 64,200 6,023
201 YEr2 ] 36,937 42,575 Ab,638




e
g Y2 IH(SNIH D) (OIEH/IIE)
ctRl: Jl=3dl (el 8 d)
SA B ER(S) - MRAE - BaS Of &r e HIDE
01 At 22l 35,737 41,375 Ab,638
OFMEE AMR2el| 35,737
02 =523l 1,200 1,200 0
ORAN2g S22 1,200
202 04H| 11,040 11,425 A 385
01 =UWo 11,040 11,425 385
OFM=g =ZUNY 11,040
203 YR=aY| 10,200 10,200 0
01 I 22 ERFAH| 6,000 6,000 0
o= 6,000,000 6,000
04 FAE2EEFFAH 4,200 4,200 0
©30¢! Olot 350,000& 12 4,200
Hegs (SN (MASX/FHAANSRE) 23,453,301 22,630,518 822,783
WRHcHXIE 23,453,301 22,630,518 822,783
z2=20Ils A& 23,153,301 22,330,518 822,783
701 JIEtl HSHES 23,153,301 22,330,518 822,783
01 JIEtl AN ES 23,153,301 22,330,518 822,783
OC2A=z2WIISSEIN HES 23,153,301
MEIZXD1E K& 300,000 300,000 0
IS8 ESsS 300,000 300,000 0

01 JISd=E3 300,000 300,000 0
=X0I= 300,000




